OMB.1845.NEW1 Gainful Employment Table.03.16.10							
Respondent Type	Requirement	# of Respondents	# of Responses	Hours/Response	Total Hours	Description	
Section A: Burden by Affected Entity							
Federal Government							
Individuals or Households							
Sub-total		0	0		0		
Private Sector							
Business or other for-profits							
Proprietary institutions - developing a process to identify CIP codes for programs of study	34 CFR 668.6(a)	2,086	2,086	10	20,860		
Proprietary institutions - reporting of CIP codes, grad dates, and amounts of private and institutional loans for all completers/graduates	34 CFR 668.6(a)	278,224	278,224	0.08	22,258		
Proprietary institutions - reporting of SOC codes, O*Net info and programmatic cost info via the institutions Web site	34 CFR 668.6(b)	2,086	2,086	3	6,258		
Sub-total		282,396	282,396		49,376		
Not-for profits							
Private not-for profit institutions - developing a process to identify CIP codes for programs of study	34 CFR 668.6(a)	238	238	10	2,380		
Private not-for profit institutions - reporting of CIP codes, grad dates, and amounts of private and institutional loans for all completers/graduates	34 CFR 668.6(a)	29,598	29,598	0.08	2,368		
Private not-for-profit institutions - reporting of SOC codes, O*Net info and programmatic cost			·		,		
info via the institutions Web site	34 CFR 668.6(b)	238	238	3	714		
Sub-total		30,074	30,074		5,462		
Total Private Sector		312,470	312,470		54,838		
State, Local, or Tribal Governments							
Public institutions - developing a process to identify CIP codes for programs of study	34 CFR 668.6(a)	2,139	2,139	10	21,390		

Public institutions - reporting of CIP codes, grad dates, and amounts of private and institutional loans for all completers/graduates	34 CFR 668.6(a)	284,144	284,144	0.08	22,732	
Public institutions - reporting of SOC codes, O*Net info and programmatic cost info via the institutions Web site	34 CFR 668.6(b)	2,139	2,139	3	6,417	
Sub-total		288,422	288,422		50,539	
Section B: Burden Impact Totals						
Total		600,892	600,892		105,376	
CURRENT INVENTORY						
Current # of Respondents		0				
Current # of Responses			0			
Current Inventory of Hours					0	
REVISED # OF RESPONDENTS		600,892				
REVISED # OF RESPONSES			600,892			
REVISED # OF BURDEN HOURS					105,376	
TOTAL # RESPONDENTS		600,892				
TOTAL # RESPONSES			600,892			
TOTAL # HOURS			·		105,376	
Difference					105,376	
Section C: Burden by Regulation Group						
1. 34 CFR 668.6(a) - Information gathering / CIP process						
Individuals						
Private Sector						
Proprietary institutions - developing a process to identify CIP codes for programs of study	34 CFR 668.6(a)	2,086	2,086	10	20,860	
Private not-for profit institutions - developing a process to identify CIP codes for programs of study	34 CFR 668.6(a)	238	238	10	2,380	
State, Local, or Tribal Governments						
Public institutions - developing a process to identify CIP codes for programs of study	34 CFR 668.6(a)	2,139	2,139	10	21,390	

	1 163	1 163		44 630	
	4,403	4,403		44,030	
34 CFR 668.6(b)	278,224	278,224	0.08	22,258	
34 CER 668 6(b)	20 508	20 508	0.08	2 368	
34 CFR 000.0(U)	29,596	29,596	0.06	2,300	
34 CFR 668.6(b)	284,144	284,144	0.08	22,732	
	501 066	501 066		47 257	
	391,900	391,900		41,331	
34 CFR 668.6(b)	2,086	2,086	3	6,258	
	34 CFR 668.6(b)	34 CFR 668.6(b) 29,598  34 CFR 668.6(b) 284,144  591,966	34 CFR 668.6(b) 278,224 278,224  34 CFR 668.6(b) 29,598 29,598  34 CFR 668.6(b) 284,144 284,144  591,966 591,966	34 CFR 668.6(b) 278,224 278,224 0.08  34 CFR 668.6(b) 29,598 29,598 0.08  34 CFR 668.6(b) 284,144 284,144 0.08  591,966 591,966	34 CFR 668.6(b) 278,224 278,224 0.08 22,258  34 CFR 668.6(b) 29,598 29,598 0.08 2,368  34 CFR 668.6(b) 284,144 284,144 0.08 22,732  591,966 591,966 47,357

	1					
Not-for profits						
Private not-for profit institutions - reporting of program names and SOC codes, grad rates, cost information and placement rates, and median debt incurred by students who completed the program for the preceding three years. The institution must separate the median loan debt from private educational loans and institutional financing.	34 CFR 668.6(b)	238	238	3	714	
State, Local, or Tribal Governments						
Public institutions - reporting of program names and SOC codes, grad rates, cost information and placement rates, and median debt incurred by students who completed the program for the preceding three years. The institution must separate the median loan debt from private educational loans and institutional financing.	34 CFR 668.6(b)	2,139	2,139	3	6,417	
TOTAL for 34 CFR 668.6(b)		4,463	4,463		13,389	
GRAND TOTAL		600,892	600,892		105,376	